A. 973.60 x 10 = 9,736 = 9,740

B. 281.91 x 100 =21891.00 = 21,890
C. 4.32x 1000 =4320.00 = 4,300

D. 248.20 + 100 =2.482=2

[

627.90 + 10 = 62.79 = 63

7429 + 1000 =7.429 =7
. 352.1 x 1000 =35210.0 = 35,200

264 x 50 =13,200 = 13,000
9421.72 x 20 =188434.4 = 1,88,434
0.829 x 30 =24.87 = 25

T. 2.0899 x 100 =208.99 =209

U. 15 x 1500 =22,500 = 23,000

9000 x 30 = 300 = 300
9201 = 100 =92.01 = 92 V. 1529.79 + 100 = 15.2979 = 15

9745.60 + 10 = 974.56 = 975 W. 40,000 + 200 = 200 = 200

643.92 + 40 =25756.8 = 25,757 X. 627.4+100= 6.274=6
1200 + 60 =20 =20

Y. 28.632 x 1000 = 28,632 = 28,630
4992 =+ 20 =249.6 = 250

9312 + 10 = 93,120 = 93,120

7 O P O ZEX RS-~ IO

914.2 +100=9.142=9
S. 8.432 x 10 = 84.320 = 84

1. 28632 11. 4300 21. 92 31. 9201 41. 975

2. 2000 12. 9740 22. 6279 32 6 42. 3000

3. 300 13. 9736 23, 21890 33, 250 43. 23000
4, 7.429 14. 63 24. 25757 34. 13200 44. 188434.4
5. 188434 15. 28630 25. 200 35, 249.6 45. 209

6. 97456 16. 28191 26. 2487 36. 4320 46. 93120
7. 20.01 17. 152979 27. 9 37. 2 47. 22500
8. 15 18. 84 28. 84320 38. 13000 48. 35200
9. 20 19. 6.274 29. 93120 39. 7 49. 25

10. 25756.8 20. 35210 30. 9.142 40. 2.482 50. 20899
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